o
o
o
o
o
o
@)
—
O

()
N
Ny
O
<
0

OO0 000000O0VOOP
000000000000y
O Q0000000 00QQ

Q0 00 0ot

////////\OOOOOOQ.OOOO
/

Z
O
—
O
D
1
—
n
Z
>
—
m
=
LLJ
n
n
<




ax

F) o

or

or

o

(P =

® o

© =

© »

or

or

©) =

@ »




oo
M6*15

X1) 140

=i '} )

@12)(

A

@) =

1HEN

REQUIRED TOOLS

S T




<1>

M6*15
24x

@ 24x




© =







M6*15
16x

@ 16x

<6>

12

12




M6*15
4x

20) o










000 Q000000000

10mm
25/64 "

O
.ooooo/l.

11




=]

n.wu. < | < T (¥ (¢t || TN ¥ | [T ||| |~
s o x|SR O|lvr | |m
o (T
5
”m jﬂ %
o
S [ 4 e
: (|8
o \ =
: A
2 R

EF N
2 N SRR EBEEREE
S
L AN
£ =
®
&)




Carton-1/2 | No Reference Picture Part| Qty
25 P 14 1
26 15 | 4
27 16 | 4
28 17 | 64
29 18 | 8
30 20 | 140
31 21 | 1
32 1
Carton-2/2 | No Reference Picture Part| Qty
1 f ']
.|||'||:|"Hﬂ
; il 2 |
A..HHNHHH
3 ] ‘|4
ﬂﬂhnhh.
4 5 4

13

HIEN




usS
[=] 53 % [m
Aosom
r5a7s
[=] 7MY,
001-877-644-9366 001-855-537-6088
customerservice@aosom.com customerservice@aosom.ca

0033-1-84166106 0034-931294512
contact@aosom.fr atencioncliente@aosom.es

Aosom

0044-800-240-4004 0049-(0)40-88307530
enquiries@mhstar.co.uk service@aosom.de

0039-0249471447
clienti@aosom.it




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14

